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How many floors gap is there between Yogi..

Y. Arunveera Kumar
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MODEL QUESTIONS

Directions (Q.No.1-5): Study the
following information carefully and
answer the questions given below:

Z4EJSTI1ANQ38BIK?7

WF6DOU2YV
1. If all the numbers in the above

arrangement are dropped, which

of the following will be the ninth
to the left of D ?

a) T b)J

e) None of these
2. How many such vowels are there

in the above arrangement, each

of which 1s immediately preced-
ed by a number and immediately
followed by a consonant?

a) None b) One c) Two

d) Three e) More than three
3. Four of the following five are

alike in a certain way based on

their positions in the above arran-
gement and so form a group.

Which is the one that does not

belong to that group?

a) 38N b) J54

d) 2Y9 e) 8IQ
4. Which of the following is exactly

in the middle between A and D in

the above arrangement?

a)l b) 8 ¢) K

e) None of these
S. How many such numbers are

there in the above arrangement,

each of which is immediately
preceded by a consonant but not

immediately followed by a

OV  dA

c) 7TWI

d) B

consonant?
a) One b) Two c) Three
d) Four e) More than four

Directions (Q.No.6-10): Study
the following information carefully

KEY WITH SOLUTIONS

and answer the questions given
below:

Ten persons Nagaraj, Tej, Suresh,
Mahesh, Prasad, Suma, Yogi, Pawan,
Rajan, Anil are living in a five storey
building such as ground floor is
numbered as 1, above it is floor 2
then top floor is numbered as 5. Each
of the floor has 2 flats in it as Flat-1
and Flat-2. Flat-1 of floor-2 is
immediately above flat-1 of floor-1
and immediately below flat-1 of
floor-3 and so on. In the same way
flat-2 of floor-2 1s immediately
above flat-2 of floor-1 and
immediately below flat-2 of floor-3
and so on. Flat-1 is in west of flat-2.

Only two persons live between
Anil and Suresh in the same flat
number. Suma lives above Nagara.
Yogi lives in the same flat number as
Suresh. Suma does not live on an
even number floor. Suma live above
Pawan. Rajan lives immediately
above Pawan in the same flat
number. Both Prasad and Mahesh
lives on an even numbered floor.
Suresh lives below Prasad in the
same flat number. Prasad does not
live above Yogi.Yogi lives in the
west of Nagaraj. Only one person
lives between Nagaraj and Suma in
the same flat number. Tej lives on an
odd number floor.

6. Who among the following lives
in flat-1 of floor-4?

a) Tej b) Anil c) Prasad

d) Suresh e) None of these
7. Who among the following lives

to the east of Suresh?

a) Tej b) Mahesh

c) Nagaraj d) Rajan

e) None of these
8. How many floors gap is there

between Yogi and Tej?

a) One b) Two c) None

d) Three e) None of these
9. Prasad lives on which of the

following floor?

a) Floor-1 b) Floor-2 c¢) Floor-3

Bharath

11. e;

(1-5) 12. ¢;

1.a; 2.c; (4EJ, 1AN) 3.e; 4. a; 13. d;

5.d; (Z4E, T1A, Q38, D9U) 14. e; 15.b
(6-10)

FLOORS FLAT-1 FLAT-2 (16-20)

5 Tej Suma

4 Anil Mahesh

3 Yogi Nagaraj

2 Prasad Rajan

1 Suresh Pawan
6. b; 7. e; 8. a; 9. b; 10. b Vamsi
(11-15)

WORD CODE

For B5E

Monsoon D3F 16. a;

Winter / Spring M13J / S4T 17. c;

Season E11] 18. c;

Summer G7L 19. d;

Umbrella / Sweater O91/ P16H 20. b
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d) Floor-4 e) Floor-5

10. Who among the following lives
to the west of Suma?
a) Yogi b) Tej c) Nagaraj
d) Suresh e) None of these

Directions (Q.No.11-15): Answ-
er these questions based on the
Jfollowing information.

In a certain code:

"Season for monsoon" is coded
as - "E11J B5SE D3F"

"Winter spring summer" is
coded as - "M13J S4T G7L"
"Winter spring monsoon" 1is
coded as - "S4T D3F M13]J"
"For umbrella sweater" 1s coded
as - "BSE O9I P16H"

11. What will be the code for "winter
spring umbrella"?

a) M13J S4T O91

b) M13J S4T P16H

c) O91 P16H M13J

d) O91 P16H S4T

e) Either (a) or (b)

12. What is the code for "For"?

a) O91 b) PI6H «¢) B5E

d) D3F e) None of these
13. Which among the following may

be coded as "E11J"?

a) Monsoon b)) Summer

c) Spring d) Season

e) None of these
14. What may be the code for

"summer sweater"?

a) GTLO91  b) G7L D3F

c) P16H D3F d) M13J BSE

(21-23)
21. b;

e) Can't be determined
15. What may be the code for
"summer monsoon raincoat"?
a) E11J H5K G10F
b) G7L M13N D3F
c) E11J D3F D5R
d) S4T P16H O91
e) None of these

Directions (Q.No.16-20): Study
the following information carefully
and answer the questions given
below:

Eight persons are sitting around a
circular table such that some are
facing inward while some are facing
outward. No two adjacent persons
are facing inward. Hari is sitting
second to the left of Amar and they
are facing opposite directions. Guna
is a neighbour of Amar. Krishna is
sitting third to the right of Vamsi.
Kavitha is sitting second to the right
of Bharath and they are facing same
direction. The immediate neighbours
of Bharath are facing opposite
directions. The immediate neigh-
bours of Kavitha are facing the same
direction. Vamsi and Kavitha are
facing same direction. The i1mm-
ediate neighbours of Hari are facing
outward. Guna 1is sitting to the
immediate left of Praveen and they
are facing opposite directions.

16. Who is sitting second to the right

of Praveen?
a) Krishna b) Vamsi
c) Amar d) Kavitha
e) Bharath
17. Who is sitting second to the left
of Vamsi?

a) Bharath b) Hari

d) Praveen e) Kavitha
18. Four of the following five are
alike in a certain way. Find the
odd one out.
a) Hari b) Vamsi
d) Guna e) Kavitha
As many persons are sitting in
between Amar and Krishna,

¢) Guna

¢) Amar

19.

. T<A(A>=L>UC<XI>T: False)
II. L > S (L > U=S: True)

22. d;

LH>0O0H=E<C>M = O0O: False)

23. a;

Krishna

24. d;
Kavitha

25. e;

OMIN

ILS>ZM(S<H=E<C>M = 0O: False)

I[. O<B (O < X< B: True)
II. A = O (False)

Praveen

towards the right of Krishna, as

in between which of the

following persons?

a) Kavitha and Guna, towards
the right of Guna

b) Guna and Hari, towards the
left of Hari

c) Hari and Kavitha, towards the
right of Kavitha

d) Bharath and Guna, towards
the left of Guna

e) Praveen and Vamsi, towards
the right of Vamsi

Which of the following is true?

a) Amar is opposite to Krishna
and they are facing opposite
directions.

b) Vamsi is sitting opposite to
Kavitha and they are facing
same direction

c) Praveen is sitting opposite to
Hari and they are facing same
direction

d) Bharath is sitting third to the
right of Praveen and they are
facing same direction.

e) Guna is sitting third to the left
of Hari and they are facing
opposite direction.

20.

Directions (Q.No.21- 23): In
these questions relationship bet-
ween different elements is shown in
the statements. The statements are
Jfollowed by two conclusions. Cho-
ose the correct option.

a) If only conclusion I is true

b) If only conclusion II is true

c¢) If either conclusion I or II true

d) If neither conclusions I nor II

true
e) If both conclusion I and II are
true
21. Statements:
S=U<I>T,A=ZL>U
Conclusions:
. T<A II.L>S
22. Statements:
SSH=E<C,0<M<C
Conclusions:
I.H>0 II.S>M
23. Statements:
A<M, O0<X<B,Y>T
Conclusions:
I. O<B I.LA=0O
24. If the second, third, fifth and
sixth letter of the word
"COMBINED" are pooled to

form a expressive word, then
what will be the 3rd letter from
the left in the so formed word. If
more than one meaningful word
1s formed then mark your answer
as X, if no such word i1s formed
then mark your answer as Z.?
a)O b)X oM d)Z el
How many pair of digits have
same number of digits between
them in the number "34871592"as
in the numeric series?

a) Five b) Four

c) Six d) Three

e) More than six

25.



